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CHECK 2 \




R BASELINE 55 oue.

BN 11x6=__ BN 12x11=__ B 10x12=__
PN 11x7=__ 2y 11x6=__ B 3x12=___
E¥8x11=__ B 11 x7=_ = o11x12=_
m12x1=__ 2 11x6=__ Zy 8x12=__
B 1x12=__ = 12x11=__ = 12x8=__
Mo6x12=__ B 4x11=__ ¥ 5x12=__
EA5x12=__ B 2x11=_ A 12x3=__
BN 12x8=_ B 12x10=__ B 11x11=__
EN4x12=_ BX 11x10=__ BN 4x11=__
o 11x7=__ EW 12x10=__ By 12x8=__
BY 12x8=__ BN 120+10=___ By 132+11=__
¥ 33+3=_ B 144+12=__ B 132+11=___
EEY 132+11=__ EX 12+1=__ B 144+12=__
By 8s+11=__ EN 108+12=__ BN 22+2=__
= 144 +12=__ B % +8=__ B 132+12=__
¥ 120+12=__ EF 48+4=__ E3 48+12=_
B2 33+11=__ B 48+12=__ B 108+9=__
132+ 11=__ E¥ 88+8=_ E¥ 33+11=_
B 11 +1=__ Eer 55+5=_ BX 66+-11=__
BN 88+11=__ EW 48 +4=__ Y 33+11=__

seore: /60 1) ¥

(5 minute limit)
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Name:

Date:

B 10x11=__ By 11 x12=__
By 11x1=__ By 6x12=__
Eyox12=__ BBy 12x5=
m1x11=__ A 11 x7=

B 12x9=__ EF 11x1=
mox11=__ B3 1x11=

BN 12x5=__ B 1x11=

B 10x11=__ EEY 6x12=

BN 1x12=__ BB} 12x6=

o 8x11=__ EW 2x11=

By 7x12=__ EN 2x11=

By 12x1=__ B 11 x11=__
By 10x11=__ E&y 12x9=__
B 12x2=__ Ed 11 x6=

B3 11x4=__ EF 12x4=

g 12x12=__ Ed 3x12=

B 12x4=__ B 4x12=

By 11%x9=__ E¥ 5x11=

By 3x12=__ By 11x12=__
E¥ 9x12= ¥ 8x11=
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22475 SCORE: |

Grown-ups:

Can learners spot links
between neighbouring
questions?
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Name:

Date:

m_  x11=99 BF _ x12=96
By 12x__ =96 B 12x__ =96
By _ x11=22 BBy 9Ox__ =99
M 10x__ =110 P 2x =22
B 10x__ =110 B x12=72
M 11x_ =77 BB x6=66
BN x12=132 B 12x_ =132
Box__ =108 B x12=24
EN _ x10=120 BBy 12x_ =12
oy x11=132 E _ x12=144
By x12=144 EFN  x11=33
Py 10x =110 B = x2=24
B x12=144 EB} 7x_ =84
M 4ax_ =44 El¥ _ x8=88
I x8=96 EF 11x__ =44
¥ 11x_ =55 Ed 8x = =96
B x11=121 E# 11x_____ =55
Y x12=144 x7=77
BN x4=48 x12=24
BV 8 x =88 x 8 =88

MISSING NUMBER 1

Practise 11s, 12s

6x__ =66
12x =120
12x =132
_ x11=121
3x__ =36
_ x12=108
_ x11=66
_x5=55
_ x11=33
BN _ x4=44
BF _ x11=88
1Tx_ =1
_x12=108
10x__ =110
12x_ =48
Ed  x4=48
_ x8=288
 x12=24
/Ix_ =77
Y 11x__ =44

Grown-ups:

Can learners spot links
between neighbouring
questions?
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ame: DIVISION 1

Date: Practise 11s, 12s
W 33+11=__ By 132+11=__ e 11+1=_
BN o°%+8=__ Py 121+11=__ BBy e6+11=__
Eye0+12=__ B /7+7=__ Ey 108+9=__
m121+11=__ Py 120+10=__ e 84+7=__
B 55+11=__ B 99+9=__ = 121 +11=__
M 33+-11=___ B e6+11=__ B 108+9=__
BN 121+11=___ B 48+12=__ By 36+12=__
BN 84+7=___ By 36+3=__ By % +~8=__
EN84+12=__ BBy 132+12=__ By 132+12=__
o 55+5=__ EW 132+11=___ EW 66+11=__
By 48+12=__ EN 144 +12=__ By 121+11=__
Py 44 -4=__ Ed 9% +8=__ B 72+12=__
ey 60+12=__ EEY 132+12=__ By 99+11=__
By oo+11=__ Ed 84+7=__ E¥y 60+5=__
B 11+11=__ EF 121+11=__ B 88+11=__
¥ 60+-12=__ EF 132+11=__ By 33+11=__
BA 120+10=__ Ed 9%6+8=__ B 108+12=__
Y 132+12=__ Ef¥ 24+2=__ By 36+12=__
Eyo6+12=__ EEy 24+12=__ Ey 66+11=__
By 72+6=__ W 132+11=__ EY 144+12=__

Grown-ups:

Can learners spot links
between neighbouring
questions?
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% CHECK 1

EN 8x12=

BN 3x11=
E¥11x1=
EN5x%x12=
BN 12x5=
& 4x11=
BA 6x12=
BN 12x1=

E¥ 10x11=

HY 12x9=

BF 12x9=

X 55+ 11=

EE¥ 33 +3=

i 24 +2 =

& 88 +8 =

I3 24 +-12 =

A 99 -9 =

¥ 33+3=

EEX 72 -6 =

2 22+11=__

SCORE:

(5 minute limit)
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e 77 +7=__
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Name: MULTIPLICATION 2

Date: Practise 11s, 12s
M 11x12=__ B 9x12=___ B 11x4=__
By /x12=__ Py 3x12=__ BBy 12x7=

BN 12x12=__ B 11x7=__ B 12x11=
m12x10=__ A 12x8=__ M 11x3=

B 12x7=__ BB /7x11=__ 3 5x12=

M 12x1=__ B3 11 x12=__ & 12x12=

BB 1x12=__ By 8x12=__ By 5x11=

B 11x11=__ BB 11 x12=__ B 12x12=

BN 11x1=__ BBy 12x2=__ By 3x11=__
o 8x11=__ EW 5x12=__ EW 12x2=__
By 7x12=__ EN 11x11=__ BN 6x12=__
By 1x12=__ B 11x12=__ By 2x11=__
By 11 x3=__ E&y 10x12=__ By 3x12=___
B 1x12=__ EN 9x12=__ BN 4x12=__
B 3x11=__ EF 1Mx4=__ EF 10x11=

i 11x7=__ Ed 2x12=___ B¥ 12x9=__
B 12x9=__ B 11x11=__ BA ox11=__
B 12x8=__ E¥ 8x12=__ BE¥ 12x10=
Ky 11x6=__ EE¥ S5x11=__ EY 11x9=__
BN 1 x11=__ N 1x12= B 5x12=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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Date:

n___
ENox___
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0n___
BN __
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BN __
Y 12x_
B _
B ax__
B __
m
B 5x__
03 12x__
m_
B 12x__
By 1x_

Q{Z SCORE: |
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x 12 =96
=72
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x10=120
=77
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x4 =44
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=12

x3=36
=144
=12
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EW 11 x
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32 ]

B 11 x_____
Ed 11 x___
B 11x____
B _
Bl 12x_____
B 4x__
B 4x__

o 11 x

MISSING NUMBER 2

x6=72
=84
=55
x11=22
=36
=24
x 5 =55
x 8 =88

x12=284

=132

x11 =121
x 11 =22

=22
=55
= 88
x12=72
=96
=44
= 48
=55

B 12 %

42

B 11x__
o 3x__
B _
B S5x__

47 ]
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ey 12 x

EX

BN 12 x

52 ]

B oox__
EF o12x__
B o1x__
B _
BA 4x___
B 5x__

[59]
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Grown-ups

questions?

Practise 11s, 12s

=120

_ x5=60
=132

=96

X6 =606

=55

_ x12=24

_ x8=96
=24

o x1=12
=132

_ x3=33
=108

=60

=77
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=60
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Can learners spot links
between neighbouring



ame: DIVISION 2

Date: Practise 11s, 12s
w121 +11=___ B 84+12=___ By 24+2=__
By /2+6=__ By 132+12=__ BBy 33+11=__
Bey/’/7+7=__ By 12+12=__ E 36+12=__
m132+-11=__ 3l /2+-6=__ M 36+12=__
M, 44+11=__ = 132+12=__ = 12+12=__
A 55+5=__ B3 /2+-6=__ B 120+-10=__
E¥ 60+5=__ B 77+-11=__ By 132+11=__
BN 24+2=__ By 84+12=__ B 84+12=__
EN 88+8=__ BBy 121 +11=__ By 120+12=__
o 84+12=__ EW 36+12=__ EW 99+11=__
B 12+-1=__ EN 88+11=__ BN 12+12=__
Py 144 +-12=__ EJ 66+-6=__ By 22+2=__
By 132+-11=__ BB} 84+12=__ By 99+11=__
;| 72+6=__ EN 22+2=__ B 11+1=__
B o%+12=__ E& 48+12=__ B 4+11=__
¥ o5+12=__ E& 55+-11=__ By 60+12=__
B2 132+11=__ El 96+8=__ B 99+9=__
B 77+-11=___ E&¥ 110+10=__ By 132+11=__
Eye0+12=__ Ey 99+11=__ By 11M+1=__
EW 48 +12=__ Iy 36+3=__ BY 48+4=__

Grown-ups:

Can learners spot links
between neighbouring
questions?
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% CHECK2 ¢ ..

BN 12x12=_ B 11x9=__ & 11x3=__
BN 12x2=__ 2 12x6=__ B3 11 x11=__
E8x11=__ B 11x2=__ = 5x12=__
w11 x5=__ 2 7x12=__ 2y 11x3=__
B2x11=__ B 8x12=_ = 11 x11=__
o 12x1=__ B3 4x12=__ &= 12x11=__
BN 7x12=__ B 1 x12=__ g 11 x11=__
B 10x11=__ B 4x12=__ E 11x12=___
EF5x11=__ B 3x11=__ B 6x12=__
By 11 x7=__ EW 7x11=__ BE¥ 3x11=__
BY8x12=_ BN 132+11=_ BN 88+8=_
B 88+11=_ B 108+12=__ BY 48+12=_
B 132+11=__ B 132+11=__ By 72+12=__
3 77+7=_ X 121+11=__ B 12+12=_
B 9% +12=__ E¥ 12+1=__ B 132+12=__
0 84+12=_ Ed 96+8=__ Ed 72+6=___
B2 o6c+12=__ Bl 55+5=__ BA 12+-1=___
I e6+-6=__ E& 132+12=__ B¥ 132+12=__
Y 132+11=__ EF 120+10=__ EY 48+4=__
e /7+11=__ EW 88+11=__ oy 22+11=__

seore: /60 1) ¥

(5 minute limit)
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